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*A=31—D 0.000328 0.000328 - o
A0BB4  |TTHRLG Yy R(E) i E 0.000350 0000350 97.76 if’;ﬁggﬁoﬁ#%ﬁ‘bwﬁ
A= 1— 0.000373 0.000373 B
A= g — G 0.000413 0.000413
A= 1 —H(EE) 0.000600 0.000600
(BEE)EXELRK 0.000502 0.000502
A= 1 —A 0.000000 0.000000
A0666  |(BK)BEAIM S EIF/NT—X A= a1 —B(EE) 0.000565 0.000565 100.00
(BEE)EEXELRK 0.000547 0.000547
A= 1 —A 0.000000 0.000000
A0BB7 (A=A T+ O—(#) A= a1 —B(EE) 0.000341 0.000341 100.00
(BEE)EEXELRK 0.000000 0.000000
A= 1 —A 0.000000 0.000000
A0668  |(¥k)HEZS - BREFEH I Y A= a1—B(&=%) 0.000000 0.000000 100.00
(BEE)EEXELRK 0.000000 0.000000
A0670  [((KR)BIRBEES 0.000099 0.000099 —
A0673  |#) ¥ /SRy FY—ERA/R=Y 3y 0.000499 0.000499 100.00
A0676  |KBN(#) 0.000630 0.000630 100.00
A0677  |#R)LBESWEH 0.000445 0.000445 100.00
A0680  [REIFT—(¥) 0.000134 0.000134 100.00
A0681 SRKEIRILF—(H) 0.000536 0.000536 100.00
A0683  [kHEEHEIE(H) 0.000326 0.000326 100.00
A0685  |BERTEHE LAAITRILE—(H) 0.000446 0.000446 100.00
A0BB7  |#)F¥—L K542 0.000548 0.000548 100.00
A=a—A 0.000000 0.000000
A0BB9  |RE—TF 1 T () A= a1 —B(EE) 0.000589 0.000589 100.00
(BEE)EXELRK 0.000588 0.000588
A0690 |HEBRT— kIARILE—(H) 0.000417 0.000374 1.28 %ﬁ%”_‘ﬁgﬁ@;ﬁ%‘b“’wﬁ
A=a1—A 0.000328 0.000328
A=31—B 0.000595 0.000595
A=a1—C 0.000387 0.000387
A0692  (FBAERL(H) A=21—D 0.000313 0.000313 100.00
A=a1—E 0.000321 0.000321
A=a—F 0.000000 0.000000
(BEE)EEELE 0.000398 0.000398
A0693  [RFIA R (#) 0.000405 0.000405 100.00
A0695  [KM/S7—(%) 0.000553 0.000553 100.00
A0696 _|(#k)Okazaki 0.000343 0.000343 100.00
A=a1—A 0.000000 0.000000
A=31—B 0.000253 0.000253
A0698  ((B)TTIA > A=21—C 0.000338 0.000338 —
A=a1—D 0.000342 0.000342
(BEE)EEELE 0.000179 0.000179
A0699 ()RS < 5 ES 0.000299 0.000299 100.00
A0702  [JE= LA R (#) 0.000521 0.000521 100.00
A0703  [JRERL—F 4 >4 (#) 0.000353 0.000353 —
A0704 Castleton Commodities Japan& Bl & #t 0.000429% 0.0004293% —
A0705  [WFEH (%) 0.0004293% 0.000429% 100.00
A0708  [T7 -9A—48—-5427YJa—av(#) 0.000434 0.000434 100.00
A=a1—A 0.000332 0.000332
A0709  |EFEHEAMEVALE A= 21 —B(%E) 0.000229 0.000229 100.00
(BEE)EEELE 0.000231 0.000231
A0711__ |(#k)RenoLAbo 0.000585 0.000585 100.00
A0712  [7—9 TILTH/B8S—X(#F) 0.000052 0.000052 100.00
AOTH4 T w4 () 0.000524 0.000524 goo7 |RUNLERORRENLOE
A0715  |(#)A XTI+ o— 0.000444 0.000444 100.00
A0716 LEVHR(HE) 0.000439 0.000439 100.00
A0718  |(#) B &K 0.000342 0.000342 100.00
A=a1—A 0.000000 0.000000 ] ‘
AO720 | LB < EEBAM)(B:(H)afterFIT) ¥E LR 6.000428 6.000456 96.39 %%¢fgg1gm$§a ho0%
[EEA P EES LS 0.000109 0.000109 -
A0721 PN E IR () 0.000524 0.000524 100.00
A0722  [HV FSRS—XY—EXRFREH 0.000496 0.000496 100.00
A0726 [N\FRILIC=¥1 5 (#) 0.000000 0.000000 100.00
A=a1—A 0.000000 0.000000 o R
AOT29  |HEE () "\ 6.000678 6.000678 69.80 %%;;:gg{go$¥%b\ba>§
(BZE)BEZLR 0.000426 0.000426 -
A0730 [ & CISHEN(HE) 0.000451 0.000451 100.00
A0732 |(M)BASEHRTFIFIO— 0.000000 0.000000 100.00
A0733  |BERILEEN*E) 0.000380 0.000380 100.00
A=a1—A 0.000000 0.000000
- . A=21—B 0.000259 0.000259
AOTST (BT A 7T F I A= 1 —C(BE) 0.000416 0.000416 100.00
(BEE)EEXELRK 0.000307 0.000307
A0738  [(BR)FI—TTFHT— 0.000528 0.000528 100.00
A0739 [Bilz=a—IF+P—(%) 0.000478 0.000478 100.00
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A0740 | #LEBH(E) 0.000471 0.000471 100.00
A0742  |(#)BA 0.000484 0.000484 100.00
A0743  [T&TI+P—(#) 0.000440 0.000440 100.00
A=a1—A 0.000000 0.000000
A0744  (#)L—2 A= 2 —B(EE) 0.000194 0.000194 100.00
(BEE)EEELRK 0.000193 0.000193
A0746 | IFAYOIREE/ ST — (%) 0.000000 0.000000 100.00
A0747 _ |SustainableEnergy(#) 0.000488 0.000488 100.00
A0748 |BOEE LIZLEHHE) 0.000246 0.000246 100.00
A0752 (498 =t2 FSILILEERE) 0.000438 0.000438 100.00
A=a1—A 0.000474 0.000474 N .
AO753  |h—LB YU IFS—(k) AL B 0.000604 0.000604 86.93 g;??w’%éli%ffg’rfgg*
(BEB)BEELHK 0.000597 0.000597 " e
A0754 [(B)EOETAE 0.000576 0.000576 100.00
A0758  |(#)HPEIRILF— 0.000605 0.000605 100.00
A0759  |(#&)7 =R Fr—21 0.000611 0.000611 100.00
A0760  |=RIEEE(H) 0.000593 0.000593 100.00
A0761  |(BR)#H &0 0.000425 0.000425 100.00
A0762  [=EMEH(E) 0.000451 0.000451 100.00
A0764  [;hiBH T R () 0.000578 0.000578 100.00
A0770 [(B)IFEL A 0.000406 0.000406 100.00
A0772  |[(#)T X2 0.000334 0.000334 100.00
A0781  [(B)ADOHNEH 0.000583 0.000583 100.00
A0783  [(B)FREH 0.000480 0.000480 100.00
A0785 |(#)VAVT14TSR 0.000432 0.000432 100.00
A0786  |Y.W.C.(%) 0.000465 0.000465 100.00
A0792  [(BMTIFP— 0.000409 0.000409 100.00
A=a1—A 0.000000 0.000000
¢ . A=1—B 0.000165 0.000165
A0793  [TGA Y bRRITFT—(4k) IR 6 500588 oo5a88 100.00
(BEE)EXELRK 0.000071 0.000071
A=a—A 0.000000 0.000000
A0796 |RIABHIBLT 1 7 (%) A= a1 —B(EE) 0.000529 0.000529 100.00
(BEE)EEXELRK 0.000528 0.000528
A0798  |#)775T— 0.000454 0.000454 100.00
A0799 [EEHCEF Y ERILIFT—(#) 0.000000 0.000000 100.00
A0800  |(#)Meisin 0.000557 0.000557 100.00
A0B02 | KIRE URRHHK— b (H) 0.000000 0.000000 o593 |RBNBBUOERENSOZ
A0803 MBS —TJILE T3 L) 0.000593 0.000593 70.91 %ﬁgf_‘ggﬁw$¥%ﬁ‘bwi‘
A0806 | L BHBUEA(KE) 0.000102 0.000102 100.00
A=a—A 0.000000 0.000000 o o
A0807  |BEEA(E) AL B 0.000406 0.000408 117 i%?}g§1§®$¥%ﬁ\b®i‘
(BEE)SEELH 0.000383 0.000383 =
A=a2—A 0.000000 0.000000
A0808  [FHES A b/iT7—(¥) A= 1 —B(EE) 0.000057 0.000057 —
(BEE)EXELRK 0.000010 0.000010
A0809  |HBILEH(H) 0.000497 0.000497 100.00
A0810 |7 UHIRE(#) 0.000456 0.000456 100.00
A=a1—A 0.000000 0.000000
A0812 [&RITFT—(#) A =1 —B(&E) 0.000386 0.000386 100.00
(BEE)EXELRK 0.000385 0.000385
A0817  [#)BAEIFZ— 0.000446 0.000446 100.00
. o aon A=a21—A 0.000000 0.000000
A0BT9 (RIR—F LR - Trsiy (BEE)EXELRK 0.000000 0.000000 100.00
A=a—A 0.000000 0.000000
A0820  |(#)T v b A=1—B 0.000000 0.000000 100.00
(BEE)EEELRK 0.000000 0.000000
A0821 ShHA  AR—=R(#F) 0.000592 0.000592 100.00
. A=a21—A 0.000000 0.000000
A0B22 | REAR () (BEB)EEELHK 0.000000 0.000000 B
A0824  |(#)IQg 0.000463 0.000463 100.00
A0825 | THT—HTSA (%) 0.000504 0.000504 100.00
A=a—A 0.000000 0.000000
A=—31—B 0.000000 0.000000
A=31—C 0.000187 0.000187
A=21—D 0.000224 0.000224 FBUNARBEOEEEN D2
A0B26 | (#R)FPS AZ21—E 0.000313 0.000313 9335 Bt
A=a—F 0.000396 0.000396
A= 1 —G(EE) 0.000592 0.000592
(BEE)EXELRK 0.000576 0.000576
A0827 | KHED B DHAEN(ME) 0.000308 0.000308 100.00
A=a1—A 0.000249 0.000249
0829 |(#RIL T2 (BEE)EEXELRK 0.000249 0.000249 100.00
A=a—A 0.000000 0.000000
A0831 BELFHENGE) A= a1 —B(EE) 0.000550 0.000550 100.00
(BEE)EEXELRK 0.000491 0.000491
A0835  [AIREZE(H) 0.000405 0.000405 100.00
A0838 |(#&)stc 0.000907 0.000907 100.00
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e A= a—A 0.000030 0.000030
A0B39 ((HRTETF T (BEE)EEXELRK 0.000030 0.000030 100.00
S a2 A=a1—A 0.000000 0.000000
A0B40  |7TRVTFNYY 2 AL R BEREEESHK 5.000000 6.060000 100.00
A0843 [V Y R TFS—(#) 0.000599 0.000599 100.00
A0844  |BEF 4 RH 5 LB () 0.000000 0.000000 —
A0B47  [HIBHL - H—BTFT—() 0.000522 0.000522 100.00
A0849  [mt 5 (#) 0.000381 0.000381 100.00
A0851 (4 BE& 5 WEH 0.000000 0.000000 100.00
A0852 [V U—VIFT—(H) 0.000334 0.000334 100.00
P A=a—A 0.000355 0.000355
A0BS | MBRILH B EA () (BEE)EEXELRK 0.000355 0.000355 100.00
A=a—A 0.000132 0.000000
A0BS9 | NBOBPRRT R F—(H) (BEE)EEXELRK 0.000132 0.000000 100.00
A0863  |(#R)#% 0.000582 0.000582 100.00
A0865 |FHIETHRILF—H—EX(Hk) 0.000000 0.000000 —
A0866  |[(#)LWVELEIFT— 0.000275 0.000275 100.00
A0867  |HADRT— b7 —(1) 0.000139 0.000139 100.00
A0868  |(#R)hY L Uity —E R 0.000499 0.000499 100.00
[— A% R BEEE]
= ELREHEH R BEEFHRY SBEFD =
BS BRBREE (t-CO2/kWH) (t-CO2/kWH) EE® %) RATEsN SIEH
1BEEAR Y FT—5 (#) 0.000423 0.000423
20RABAFR Y FT—5 (%) 0.000423 0.000423
3 EHEEHN/RNT—5 U v F(#) 0.000423 0.000423
AP BEH/NT—F ) v F(#k) 0.000423 0.000423
5|LBEE NEEE(#) 0.000423 0.000423
6|RAFE B S AR E () 0.000423 0.000423
7HEENFRY FT—5 (%) 0.000423 0.000423
8|mEE HERE () 0.000423 0.000423
9| NINTE % EE (#) 0.000423 0.000423
10| 4B B (4%) 0.000694 0.000694 99.78 %%?:g‘)gﬁ”;*%b‘ L0
(—BRREERE] ORYIL, BREBHOTZIRBIEESTI T IBEICEMATZRMTT.
MEEHMAD—BRREBEESEEETIRYERALTHS « AXLTNET.
REIE [ 0.000422 |
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